K PG E-school

ACTIVITY A2 M1 035

Fill in the gaps (01-04) with one of the words given (A-E), as in the example. There is one you do not need.

ZuptmAnpwoe Ta kevd (01-04) pe pia a1rd Tig Aé€eig TTou oou Sivovral (A-E), 6TTwg oTo Trapddeiyua. YIradpxel gia Aégn tnv
otroia dev xpeiddeoal.

EX. | adventure / A. | survivor B. | daughter C. | ship D. | captain E. | neck

mm Pirates of the Caribbean v it
The Curse of the Black Pearl

blacksmith Will Turner who rescue Elizabeth Swann from the crew of the
Black Pearl and its (01) , Hector Barbossa. The story starts as
Governor Weatherby Swann and his twelve-year-old (02)

Elizabeth sail to Port Royal, Jamaica, they see a shipwreck with only one
(03) , the young Will Turner. Elizabeth finds and hides a gold
medallion she has found around Will's (04) . She then sees a

pirate ship, the Black Pearl, but it soon disappears. ?IMTES;S;
ARIBBEAN
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